

# COMPUTING DERIVATIVES

Math 130 - Essentials of Calculus

7 October 2019

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval, then  $f$  is decreasing on that interval.

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval, then  $f$  is decreasing on that interval.
- If  $f''(x) > 0$  on an interval

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval, then  $f$  is decreasing on that interval.
- If  $f''(x) > 0$  on an interval, then  $f$  is concave up on that interval.



# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval, then  $f$  is decreasing on that interval.
- If  $f''(x) > 0$  on an interval, then  $f$  is concave up on that interval.
- If  $f''(x) < 0$  on an interval

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval, then  $f$  is decreasing on that interval.
- If  $f''(x) > 0$  on an interval, then  $f$  is concave up on that interval.
- If  $f''(x) < 0$  on an interval, then  $f$  is concave down on that interval.

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval, then  $f$  is decreasing on that interval.
- If  $f''(x) > 0$  on an interval, then  $f$  is concave up on that interval.
- If  $f''(x) < 0$  on an interval, then  $f$  is concave down on that interval.

Other consequences:

- If  $f'(a) = 0$

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval, then  $f$  is decreasing on that interval.
- If  $f''(x) > 0$  on an interval, then  $f$  is concave up on that interval.
- If  $f''(x) < 0$  on an interval, then  $f$  is concave down on that interval.

Other consequences:

- If  $f'(a) = 0$ , then  $f$  has a possible local minimum or local maximum at  $a$ .

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval, then  $f$  is decreasing on that interval.
- If  $f''(x) > 0$  on an interval, then  $f$  is concave up on that interval.
- If  $f''(x) < 0$  on an interval, then  $f$  is concave down on that interval.

Other consequences:

- If  $f'(a) = 0$ , then  $f$  has a possible local minimum or local maximum at  $a$ .
- If  $f''(a) = 0$

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval, then  $f$  is decreasing on that interval.
- If  $f''(x) > 0$  on an interval, then  $f$  is concave up on that interval.
- If  $f''(x) < 0$  on an interval, then  $f$  is concave down on that interval.

Other consequences:

- If  $f'(a) = 0$ , then  $f$  has a possible local minimum or local maximum at  $a$ .
- If  $f''(a) = 0$ , then  $f$  has a possible inflection point at  $a$ . (An inflection point is a point where the concavity changes.)

# DERIVATIVES AND THE INFORMATION THEY PROVIDE

Knowing information about the first and second derivatives of a function can tell you a lot of information.

- If  $f'(x) > 0$  on an interval, then  $f$  is increasing on that interval.
- If  $f'(x) < 0$  on an interval, then  $f$  is decreasing on that interval.
- If  $f''(x) > 0$  on an interval, then  $f$  is concave up on that interval.
- If  $f''(x) < 0$  on an interval, then  $f$  is concave down on that interval.

Other consequences:

- If  $f'(a) = 0$ , then  $f$  has a possible local minimum or local maximum at  $a$ .
- If  $f''(a) = 0$ , then  $f$  has a possible inflection point at  $a$ . (An inflection point is a point where the concavity changes.)

# WORKING TOWARD AN EASIER PATH

Suppose we have the function  $f(x) = c$ .



## WORKING TOWARD AN EASIER PATH

Suppose we have the function  $f(x) = c$ . Then

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{c - c}{h} = \lim_{h \rightarrow 0} 0 = 0$$

## WORKING TOWARD AN EASIER PATH

Suppose we have the function  $f(x) = c$ . Then

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{c - c}{h} = \lim_{h \rightarrow 0} 0 = 0$$

This means that the derivative of any constant function is zero.

## WORKING TOWARD AN EASIER PATH

Suppose we have the function  $f(x) = c$ . Then

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{c - c}{h} = \lim_{h \rightarrow 0} 0 = 0$$

This means that the derivative of any constant function is zero. That is

PROPERTY

$$\frac{d}{dx}[c] = 0$$

# WORKING TOWARD AN EASIER PATH

Suppose now we have the function  $f(x) = x$ .

## WORKING TOWARD AN EASIER PATH

Suppose now we have the function  $f(x) = x$ . Then

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{x+h-x}{h} = \lim_{h \rightarrow 0} \frac{h}{h} = \lim_{h \rightarrow 0} 1 = 1$$

## WORKING TOWARD AN EASIER PATH

Suppose now we have the function  $f(x) = x$ . Then

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{x+h-x}{h} = \lim_{h \rightarrow 0} \frac{h}{h} = \lim_{h \rightarrow 0} 1 = 1$$

So,

PROPERTY

$$\frac{d}{dx}[x] = 1$$

## WORKING TOWARD AN EASIER PATH

Continuing with powers of  $x$ , take  $f(x) = x^2$ .

## WORKING TOWARD AN EASIER PATH

Continuing with powers of  $x$ , take  $f(x) = x^2$ . Then

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$



## WORKING TOWARD AN EASIER PATH

Continuing with powers of  $x$ , take  $f(x) = x^2$ . Then

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^2 - x^2}{h}$$

## WORKING TOWARD AN EASIER PATH

Continuing with powers of  $x$ , take  $f(x) = x^2$ . Then

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^2 - x^2}{h} \\ &= \lim_{h \rightarrow 0} \frac{x^2 + 2xh + h^2 - x^2}{h} \end{aligned}$$

## WORKING TOWARD AN EASIER PATH

Continuing with powers of  $x$ , take  $f(x) = x^2$ . Then

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^2 - x^2}{h} \\ &= \lim_{h \rightarrow 0} \frac{x^2 + 2xh + h^2 - x^2}{h} = \lim_{h \rightarrow 0} \frac{2xh + h^2}{h} \end{aligned}$$

## WORKING TOWARD AN EASIER PATH

Continuing with powers of  $x$ , take  $f(x) = x^2$ . Then

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^2 - x^2}{h} \\ &= \lim_{h \rightarrow 0} \frac{x^2 + 2xh + h^2 - x^2}{h} = \lim_{h \rightarrow 0} \frac{2xh + h^2}{h} \\ &= \lim_{h \rightarrow 0} (2x + h) \end{aligned}$$

## WORKING TOWARD AN EASIER PATH

Continuing with powers of  $x$ , take  $f(x) = x^2$ . Then

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^2 - x^2}{h} \\ &= \lim_{h \rightarrow 0} \frac{x^2 + 2xh + h^2 - x^2}{h} = \lim_{h \rightarrow 0} \frac{2xh + h^2}{h} \\ &= \lim_{h \rightarrow 0} (2x + h) = 2x \end{aligned}$$

## WORKING TOWARD AN EASIER PATH

Continuing with powers of  $x$ , take  $f(x) = x^2$ . Then

$$\begin{aligned}
 f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^2 - x^2}{h} \\
 &= \lim_{h \rightarrow 0} \frac{x^2 + 2xh + h^2 - x^2}{h} = \lim_{h \rightarrow 0} \frac{2xh + h^2}{h} \\
 &= \lim_{h \rightarrow 0} (2x + h) = 2x
 \end{aligned}$$

So,

PROPERTY

$$\frac{d}{dx}[x^2] = 2x$$

# WORKING TOWARD AN EASIER PATH

One more, for good measure:  $f(x) = x^3$ .

## WORKING TOWARD AN EASIER PATH

One more, for good measure:  $f(x) = x^3$ . Then

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$



## WORKING TOWARD AN EASIER PATH

One more, for good measure:  $f(x) = x^3$ . Then

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^3 - x^3}{h}$$

## WORKING TOWARD AN EASIER PATH

One more, for good measure:  $f(x) = x^3$ . Then

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^3 - x^3}{h} \\ &= \lim_{h \rightarrow 0} \frac{x^3 + 3x^2h + 3xh^2 + h^3 - x^3}{h} \end{aligned}$$

## WORKING TOWARD AN EASIER PATH

One more, for good measure:  $f(x) = x^3$ . Then

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^3 - x^3}{h} \\ &= \lim_{h \rightarrow 0} \frac{x^3 + 3x^2h + 3xh^2 + h^3 - x^3}{h} = \lim_{h \rightarrow 0} \frac{3x^2h + 3xh^2 + h^3}{h} \end{aligned}$$

## WORKING TOWARD AN EASIER PATH

One more, for good measure:  $f(x) = x^3$ . Then

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^3 - x^3}{h} \\ &= \lim_{h \rightarrow 0} \frac{x^3 + 3x^2h + 3xh^2 + h^3 - x^3}{h} = \lim_{h \rightarrow 0} \frac{3x^2h + 3xh^2 + h^3}{h} \\ &= \lim_{h \rightarrow 0} (3x^2 + 3xh + h^2) \end{aligned}$$

## WORKING TOWARD AN EASIER PATH

One more, for good measure:  $f(x) = x^3$ . Then

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^3 - x^3}{h} \\ &= \lim_{h \rightarrow 0} \frac{x^3 + 3x^2h + 3xh^2 + h^3 - x^3}{h} = \lim_{h \rightarrow 0} \frac{3x^2h + 3xh^2 + h^3}{h} \\ &= \lim_{h \rightarrow 0} (3x^2 + 3xh + h^2) = 3x^2 \end{aligned}$$

## WORKING TOWARD AN EASIER PATH

One more, for good measure:  $f(x) = x^3$ . Then

$$\begin{aligned}
 f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{(x+h)^3 - x^3}{h} \\
 &= \lim_{h \rightarrow 0} \frac{x^3 + 3x^2h + 3xh^2 + h^3 - x^3}{h} = \lim_{h \rightarrow 0} \frac{3x^2h + 3xh^2 + h^3}{h} \\
 &= \lim_{h \rightarrow 0} (3x^2 + 3xh + h^2) = 3x^2
 \end{aligned}$$

PROPERTY

$$\frac{d}{dx}[x^3] = 3x^2$$

## THE GENERAL RULE FOR POWERS OF $x$

In general, following the emerging pattern here we end up with the following result

## THE GENERAL RULE FOR POWERS OF $x$

In general, following the emerging pattern here we end up with the following result

THEOREM (POWER RULE)

$$\frac{d}{dx}[x^n] = nx^{n-1}$$



## THE GENERAL RULE FOR POWERS OF $x$

In general, following the emerging pattern here we end up with the following result

THEOREM (POWER RULE)

$$\frac{d}{dx}[x^n] = nx^{n-1}$$

EXAMPLE

*Compute the derivative of the following functions:*

①  $f(x) = x^7$

## THE GENERAL RULE FOR POWERS OF $x$

In general, following the emerging pattern here we end up with the following result

THEOREM (POWER RULE)

$$\frac{d}{dx}[x^n] = nx^{n-1}$$

EXAMPLE

*Compute the derivative of the following functions:*

- 1  $f(x) = x^7$
- 2  $g(q) = \sqrt{q}$

## THE GENERAL RULE FOR POWERS OF $x$

In general, following the emerging pattern here we end up with the following result

THEOREM (POWER RULE)

$$\frac{d}{dx}[x^n] = nx^{n-1}$$

EXAMPLE

*Compute the derivative of the following functions:*

- 1  $f(x) = x^7$
- 2  $g(q) = \sqrt{q}$
- 3  $f(x) = \frac{1}{x^3}$

# THE GENERAL RULE FOR POWERS OF $x$

In general, following the emerging pattern here we end up with the following result

THEOREM (POWER RULE)

$$\frac{d}{dx}[x^n] = nx^{n-1}$$

EXAMPLE

*Compute the derivative of the following functions:*

- 1  $f(x) = x^7$
- 2  $g(q) = \sqrt{q}$
- 3  $f(x) = \frac{1}{x^3}$
- 4  $h(t) = 19$

## THE GENERAL RULE FOR POWERS OF $x$

In general, following the emerging pattern here we end up with the following result

THEOREM (POWER RULE)

$$\frac{d}{dx}[x^n] = nx^{n-1}$$

EXAMPLE

Compute the derivative of the following functions:

①  $f(x) = x^7$

②  $g(q) = \sqrt{q}$

③  $f(x) = \frac{1}{x^3}$

④  $h(t) = 19$

⑤  $f(x) = \sqrt[5]{x}$

⑥  $w(z) = \frac{1}{\sqrt{z}}$

⑦  $g(t) = \frac{1}{\sqrt[7]{x^{12}}}$

# CONSTANT MULTIPLE RULE

## THEOREM

Let  $c$  be a real number,

$$\frac{d}{dx}[cf(x)] = cf'(x).$$

# CONSTANT MULTIPLE RULE

## THEOREM

Let  $c$  be a real number,

$$\frac{d}{dx}[cf(x)] = cf'(x).$$

## EXAMPLE

Compute the derivative of the following functions:

①  $f(x) = 9x^4$

# CONSTANT MULTIPLE RULE

## THEOREM

Let  $c$  be a real number,

$$\frac{d}{dx}[cf(x)] = cf'(x).$$

## EXAMPLE

Compute the derivative of the following functions:

- 1  $f(x) = 9x^4$
- 2  $g(q) = 3\sqrt{q}$



# CONSTANT MULTIPLE RULE

## THEOREM

Let  $c$  be a real number,

$$\frac{d}{dx}[cf(x)] = cf'(x).$$

## EXAMPLE

Compute the derivative of the following functions:

①  $f(x) = 9x^4$

②  $g(q) = 3\sqrt{q}$

③  $f(x) = 9\sqrt[3]{x}$

④  $w(z) = \frac{4}{z^3}$

## DERIVATIVES OF SUMS AND DIFFERENCES

## THEOREM

$$\frac{d}{dx}[f(x) + g(x)] = f'(x) + g'(x)$$

$$\frac{d}{dx}[f(x) - g(x)] = f'(x) - g'(x)$$

## DERIVATIVES OF SUMS AND DIFFERENCES

## THEOREM

$$\frac{d}{dx}[f(x) + g(x)] = f'(x) + g'(x)$$

$$\frac{d}{dx}[f(x) - g(x)] = f'(x) - g'(x)$$

## EXAMPLE

Compute the derivative of the following functions:

①  $f(x) = \frac{7}{4}x^2 - 3x + 12$

## DERIVATIVES OF SUMS AND DIFFERENCES

## THEOREM

$$\frac{d}{dx}[f(x) + g(x)] = f'(x) + g'(x)$$

$$\frac{d}{dx}[f(x) - g(x)] = f'(x) - g'(x)$$

## EXAMPLE

Compute the derivative of the following functions:

①  $f(x) = \frac{7}{4}x^2 - 3x + 12$

②  $g(x) = x^{5/3} - x^{2/3}$

## DERIVATIVES OF SUMS AND DIFFERENCES

## THEOREM

$$\frac{d}{dx}[f(x) + g(x)] = f'(x) + g'(x)$$

$$\frac{d}{dx}[f(x) - g(x)] = f'(x) - g'(x)$$

## EXAMPLE

Compute the derivative of the following functions:

①  $f(x) = \frac{7}{4}x^2 - 3x + 12$

②  $g(x) = x^{5/3} - x^{2/3}$

③  $f(x) = x^5 - 2x^3 + x - 1$

④  $w(z) = 2x - 5x^{3/4}$

## DERIVATIVE OF THE EXPONENTIAL FUNCTION

## DEFINITION

*e* is the number such that

$$\lim_{h \rightarrow 0} \frac{e^h - 1}{h} = 1.$$

## DERIVATIVE OF THE EXPONENTIAL FUNCTION

## DEFINITION

*e* is the number such that

$$\lim_{h \rightarrow 0} \frac{e^h - 1}{h} = 1.$$

If  $f(x) = e^x$ , then we have

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$

## DERIVATIVE OF THE EXPONENTIAL FUNCTION

## DEFINITION

$e$  is the number such that

$$\lim_{h \rightarrow 0} \frac{e^h - 1}{h} = 1.$$

If  $f(x) = e^x$ , then we have

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{e^{x+h} - e^x}{h}$$



## DERIVATIVE OF THE EXPONENTIAL FUNCTION

## DEFINITION

$e$  is the number such that

$$\lim_{h \rightarrow 0} \frac{e^h - 1}{h} = 1.$$

If  $f(x) = e^x$ , then we have

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{e^{x+h} - e^x}{h} \\ &= \lim_{h \rightarrow 0} \frac{e^x(e^h - 1)}{h} \end{aligned}$$

## DERIVATIVE OF THE EXPONENTIAL FUNCTION

## DEFINITION

$e$  is the number such that

$$\lim_{h \rightarrow 0} \frac{e^h - 1}{h} = 1.$$

If  $f(x) = e^x$ , then we have

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{e^{x+h} - e^x}{h} \\ &= \lim_{h \rightarrow 0} \frac{e^x(e^h - 1)}{h} = e^x \lim_{h \rightarrow 0} \frac{e^h - 1}{h} \end{aligned}$$

## DERIVATIVE OF THE EXPONENTIAL FUNCTION

## DEFINITION

$e$  is the number such that

$$\lim_{h \rightarrow 0} \frac{e^h - 1}{h} = 1.$$

If  $f(x) = e^x$ , then we have

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{e^{x+h} - e^x}{h} \\ &= \lim_{h \rightarrow 0} \frac{e^x(e^h - 1)}{h} = e^x \lim_{h \rightarrow 0} \frac{e^h - 1}{h} = e^x \cdot 1 \end{aligned}$$

## DERIVATIVE OF THE EXPONENTIAL FUNCTION

## DEFINITION

$e$  is the number such that

$$\lim_{h \rightarrow 0} \frac{e^h - 1}{h} = 1.$$

If  $f(x) = e^x$ , then we have

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{e^{x+h} - e^x}{h} \\ &= \lim_{h \rightarrow 0} \frac{e^x(e^h - 1)}{h} = e^x \lim_{h \rightarrow 0} \frac{e^h - 1}{h} = e^x \cdot 1 = e^x \end{aligned}$$

# DERIVATIVE OF THE EXPONENTIAL FUNCTION

## DEFINITION

$e$  is the number such that

$$\lim_{h \rightarrow 0} \frac{e^h - 1}{h} = 1.$$

If  $f(x) = e^x$ , then we have

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \lim_{h \rightarrow 0} \frac{e^{x+h} - e^x}{h} \\ &= \lim_{h \rightarrow 0} \frac{e^x(e^h - 1)}{h} = e^x \lim_{h \rightarrow 0} \frac{e^h - 1}{h} = e^x \cdot 1 = e^x \end{aligned}$$

## PROPERTY

$$\frac{d}{dx}[e^x] = e^x$$